. 14 3/4"
10 3/4" 10
10" N
F
///:\\\\ 7 A\
/ - = = | ] ||
/ N\ yad ~ © C — — ﬂ\ IE - =
) | | ’ / \\ | | / / A\ \ // OTHER PANEL,, 9'-10 1/8" QTHER PANEL
© | | I | | / N\ \ [3000mm]
\ I [ AN 7
\\ V4 - I
X = \ ! S
== AN y | E [ I Iy O O N Y O Y
X < = E
10 3/4" S~ 23 |
6" - 14 3/4" & ==
10" !l 13111 1T 1T 1T T IT1TTDO
lp lp " " " N [ R (RN I A R U A R SR (R R I I I IR SR B
] ] : 3 I 14 I 3" 3" | o |
s = . i —
& I 23 |
] B O u u [ N N N O A I A O N
| | ] ] O -
E\I E\l £y £ I = Ev I
S = 5/8" DIAM. BOLT TO & & SIS SIE
© N SECURE TO HELICAL PILE - - <3 I ©Q g I
| | | | © © o= =%
| | || O = 5/8" DIAM. BOLT TO = | =111 T T T T T T T 1T
i L 10" L I 10" | || SECURE TO HELICAL PILE - O | =444 441+t + T+ T j‘
N =
T T J 7I77777I7 ” [ ] [ ] \\ 1 J/ - — — — — — ] I §§ |
T T T T T T ST T | = ‘
N - - R 11 1 1 1 17T 1T T T 7T 7T T 1T 7
| o 8 DIAL BOLTTO . | 3 | | ~ | | 3 | | | | e e e e e I I I T U R S o
= | N\ . - —
% | @ I SECURE TO HELICAL PILE [¥I I | O | ~ [EI | | | 3'%3"1/4" GUSSET PLATE | | ~ . aE ‘. NE >
z _ _ CUT AT 45 DEGREE ANGLE o|® <8
A | | | | & | | & | | & | | | : | ‘ 73 g g
I I I I — === 494~ + T+ + + + +
I I I | | | | I I I I ‘LPfffffffffffﬂ,,,,,,,,,,,]‘
4 3/4" " I/ 4 3/4" L "
4 3/4" I 4 3/4 4 3. " " e =
g 7 e ST oE f o i I I ALL MATERIAL TO BE f o T v ; . ALL MATERIAL TO BE 2358 2358 |y ‘
5" 5" GALVANIZED STEEL ) GALVANIZED STEEL 1/4" ?S
5" ‘ = ‘
N N (N A ) A O
I
PILE CAP #1 - COMMON U-BRACKET PILE CAP #2 - FLAT PLATE PILE CAP #3 - ELONGATED U-BRACKET 43 | aE |
1 o 2 Ep— 3 o /8 2|3
SCALE =3"=1'-0 SCALE =3"=1'-0 SCALE =3"=1'-0 oe ‘ - ‘
N O A ) O A O
I o I
~|E
L] =|E |
Qg
T I
+————RAILING SHOWN FOR ILLUSTRATION PURPOSES ONLY —_ ===~ 4 A Tt =+ + + 4+ + + + A
‘LFffffffffffff,,,,,,,,,,,,]‘
I I I I I I I I I I W
J) |
~ ~_ L 1 1 L e e
: u
o \
o=
TYPICAL COMMON PILE LOCATION IN
~ RELATION TO FIBER-WALK PANELS
L© 2"x1/4" FLAT BAR CROSS BRACING e 2"x1/4" FLAT BAR CROSS BRACING ©
N BOLTED TO HELICAL PILES w/ 3/8" BOLTED TO HELICAL PILES w/ 3/8"
DIAM. HDG A325 BOLTS TYP. DIAM. HDG A325 BOLTS TYP. If
MAINTAIN MAX. 6" SPACING O]
FROM U/S FIBER-WALK PANELS u
Z
=
S
Lo’j [ T 1 1 T T T T T T T T T T T I°F T T T T T T 1
E 2 o o ° - a ® ® 2
HELICAL PILE g . o 5
< i [3000mm] 1
[ ] [ ]
= A
I
=
0]
Z
)
<
o
m
0
n
0
X
)
-
z
MAINTAIN MAX. 6" SPACING IT; "
FROM T/O GRADE _ Z PRODUCT DRAWINGS FOR INDIVIDUAL FIBER-WALK PANELS WILL BE PROVIDED PRIOR TO CONSTRUCTION
E N
& © © o>
. | | /FINISHED GRADE 2
o=
’ NZ N \ N4 ) NZ \ N ) N4
////////// /\ /////// //////////\ /////\/// /////
NS XS XS KK S KK S KKK XK XS X /X/\ /\/\/X/ \/\/\K\/ \/\/\K\ /\
. N \ \ \\ \ \ \ N\ \ \ \ N \ A
RESERVED -\ _TYP. CROSS BRACING DETAIL /x\/x NN N N N N NN SNIININ COMMON FIBER-WALK PANEL - 3.0m x 4.0m
SCALE=NTS SCALE=3/ "= 1'-0" / / / 7N /\ N / 7N 7N N N / VRN N /\/ /\ / VRN / SCALE= 1/2u= 1!_0!!
N CUSTOM RECYCLED ASH HAND RAIL FASTENED TO
\ GALVANIZED STEEL SUPPORTS. SANDED FINISH.
GALVANIZED HANDRAIL SUPPORT NOTE: ASH HANDRAIL RADII AS SHOWN ARE APPROXIMATE
WITH RECESSED FASTENERS. SHOP \ \ ONLY. CONTRACTOR TO PROVIDE A MOCK UP OF HANDRAIL)
DRAWINGS TO BE PROVIDED FOR /. 5 AND ARM SUPPORT FOR ACCEPTANCE PRIOR TO
REVIEW AND APPROVAL PRIOR TO // | \). | \ MANUFACTURE.
FABRICATION 1 x 4 DOUGLAS FIR BOARD TO SCREEN RECESSED GALVANIZED STEEL FASTENERS.
HANDRAIL SUPPORT TO BE FASTENED 2 50 ) MESH FROM VIEW (BACK SIDE) 51 x 25 GALVANIZED STEEL CONNECTION TO HAND RAIL 2 x4 DOUGLAS FIR RAIL FASTENED TO POST
TO TOP OF WOOD POS AN 1 x 2 DOUGLAS FIR FRAME (BACK SIDE) HANDRAIL SUPPORT/ATTACHMENT. SHOP DRAWING TO
T\ NN, 25 RECYCLED ASH HANDRAIL. BE PROVIDED FOR REVIEW AND ACCEPTANCE PRIOR 70mm ROUGH SAWN DOUGLAS FIR KICKPLATE/TOE
4 x 4 DOUGLAS FIR POST. \ 1 | ' / SANDED FINISH TO FABRICATION. SUPPORT STAND TO PROVIDE RAIL BOLTED TO GALVANIZED METAL BRACKET BOARDWALK DECKING

SANDED FINISH
'y

1 x 2 DOUGLAS FIR FRAME < 100

\_’/

110mm
|

GALVANIZED HANDRAIL SUPPORT.
CONTRACTOR PROVIDE SHOP
DRAWINGS FOR REVIEW AND APPROVE
PRIOR TO FABRICATION

1100mm

915mm
3"x3"

—

— 1

200mm|

-

1100mm

N g S m————

1100mm

B g e e

max.
0mm

=l=1=>=1

o o

o [e]

o o o

o [e] o

BOARDWALK

éOmn
ol

125mm

mm

WOOD KICKPLATE
(BOARDWALK SIDE)

1x'2 DOUGLAS FIR

FRAME (BACK SIDE)

1. CONTRACTOR TO PROVIDE SHOP DRAWINGS FOR REVIEW AND APPROVAL.

SHOP DRAWINGS TO BE SIGNED BY P.ENG REGISTERED IN ONTARIO.
TERMINATION/END PIECES OF HAND RAILS ARE TO BE FINISHED WITH
RECYCLED ASH. UNDERSIDE OF RAILING IS NOT TO BE VISIBLE.
CONTRACTOR TO USE GALVANIZED FASTENERS THROUGHOUT
CONTRACTOR TO PROVIDE A 2 FOOT SAMPLE OF TOP RAIL FOR REVIEW
AND APPROVAL PRIOR TO CONSTRUCTION

RAILINGS SHALL BE FREE OF ANY KNOTS (CLEAR) or CRACKS

7Pmm  75m

11 GAUGE GALVANIZED —
CONTINUOUS WELDED
WIRE MESH

1.5m O.C.

— 1 x 2 DOUGLAS FIR FRAME (BACK SIDE)

POSITIVE DRAINAGE TO ENSURE NO SITTING WATER

HANDRAIL SUPPORT TO BE FASTENED WITH GALVANIZED
FASTENERS TO SIDES OF 4 x 4 WOOD POST

RECYCLED ASH HAND RAILING. SANDED FINISH

GALVANIZED HANDRAIL SUPPORT WITH RECESSED
FASTENERS. CONTRACTOR TO PROVIDE SHOP DRAWINGS
FOR REVIEW AND APPROVAL PRIOR TO FABRICATION
HANDRAIL SUPPORT TO BE FASTENED WITH GALVANIZED
FASTENERS TO 4x4 WOOD POST

2 x4 DOUGLAS FIR RAIL FASTENED TO POST. SANDED FINI
1 x 2 DOUGLAS FIR FRAME

GALVANIZED BRACKET WITH SLOTTED OPENINGS TO

ACCEPT BOLTS ON WOOD POST AND FRAME
11 GAUGE HOT DIPPED GALVANIZED WELDED WIRE MESH

WITH 3"x3" OPENINGS (BACK SIDE ONLY)

BACK

o——— 4 x4 DOUGLAS FIR POST. SANDED FINISH

—— 70mm ROUGH SAWN DOUGLAS FIR WOOD KICKPLATE
MECHANICALLY FASTENED TO GALVANIZED METAL BRACKE,
1 x 2 DOUGLAS FIR FRAME

3 GALVANIZED BRACKET TO BE BOLTED TO POST WITH

—] M20 GALVANIZED BOLT.

iS5 2 x4 DOUGLAS FIR RAIL FASTENED TO POST. SANDED FINIS|

FIBERWALK FRAME WITH DOUGLAS FIR DECKING

15
[ E——— POST TO BE FASTENED INTO FIBERWALK PANEL WITH
GALVANIZED THREADED ROD

POST TO BE FASTENED INTO FIBREGLASS
PANEL WITH GALVANIZED THREADED ROD

TYPICAL

POST AND RAILING PANEL ELEVATION

TYP. POST AND RAILING SECTION/ELEVATION

SCALE = N.T.S.

POST AND RAILING PANEL SECTION

—

4 x 4 DOUGLAS FIR POST. SANDED FINISH

70mm ROUGH SAWN DOUGLAS FIR KICKPLATE

FIBERWALK PANEL BOLTED TO GALVANIZED METAL BRACKET

& e 7om GALVANIZED BRACKET TO BE BOLTED TO POST
/ l 7'] BOARDWALK DECKING l | § \lg L% JL WITH M20 GALVANIZED BOLT.
! Y
g = E L1 » &% 2 x4 DOUGLAS FIR RAIL FASTENED TO POST
o) = lo} o o) o 2 o) o) 4 o— 4 x 4 DOUGLAS FIR POST. SANDED FINISH
<
° g .\ o © © E © ° ¢— POST TO BE FASTENED INTO FIBERWALK PANEL WITH
= = GALVANIZED THREADED ROD
f00mm N\ pOST TO BE FASTENED INTO
FIBERWALK PANEL WITH GALVANIZED
THREADED ROD NOTE:
1. CONTRACTOR TO PROVIDE SHOP DRAWINGS FOR REVIEW AND APPROVAL.
1500mm O/C 2. SHOP DRAWINGS TO BE SIGNED BY P.ENG REGISTERED IN ONTARIO.
TOE RAIL ELEVATION TOE RAIL SECTION
SCALE =N.T.S.
REVISIONS TRUE NORTH: Z00 BOARDWALK (A2 DATE: DESIGN BY:
CRITERIUM 4°® (A2) 2022-07-10 MA
DRAWN BY: REVIEWED BY:

A 22-09-22 ISSUED FOR TENDER JANSEN ENGINEERS TYP. DETAILS PB MA
B 22-09-30 ISSUED FOR ADDENDUM #2 25 FIRST STREET PROJECT No.: 07-4502 DRAWING No.: REV.:

C 22-10-04 ISSUED FOR ADDENDUM #3 ORANGEVILLE, ON, L9W 2C8 CLIENT: Connor Blaikie, WSP SCALE- Asoo O

1-(888) 940-0571 ' AS NOTED



AutoCAD SHX Text
CRITERIUM


	Sheets and Views
	A300


